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10.

Answer ALL questions.
PART A — (10 x 2 = 20 marks)
State the advantages of constant envelope modulation.

Define the following for FSK modulation (a) Modulation index (b) Frequency
deviation.

Mention the peak power problem reduction-schemes.
What is the need for scrambling?
Determine the hamming bound for a ternary code.

For a standard telephone circuit with a signal to noise power ratio of 1000
(30 dB) and bandwidth of 2.7 KHz. Determine the Shannon Limit for
information capacity.

List the decoding techniques using maximum likelihood.
What are disadvantages of sequential decoding?
What are ways to mitigate the detrimental effect of ISI?

Enumerate the significance of adaptive equalization algorithms.
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‘With neat block diagram, explain coherent and non-coherent detection of
BFSK. Determine the minimum bandwidth and band for a BPSK
modulator with a carrier frequency of 40 MHz and an input bit rate of
500 kbps. Sketch the output spectrum.

Or

Explain M-ary frequency shift keying. Compare FSK, MSK and Gauman
minimum shift keying.

Discuss generation of subcarriers using the IFFT with neat diagram.
Mention its key features, merits and demerits.

Or
Explain various peak power problem reduction schemes.

Discuss the architecture and performance of binary block codes on digital
communication with suitable example.

Or
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eight possible data words, find the corresponding code words and verify
that this code is a single error correcting code.

Explain the concept of convolution codes using state and Trellis diagram.
Mention its merits and demerits.

Or

Discuss the error probability. performance for BPSK and veterbi
algorithm. .

What is meant by Nyquist Criteria? Explain the equalization algorithms
with suitable example.

Or
Write brief notes on :
i) Linear equalizer. (8)
(i) Adaptive equalization algorithm. &
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